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(design)

(formal verification)

(theorem proving)

(model checking)
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P = m: cogbegin P, || P, coend

Py |y while Truedo
NC, wait(turn=0);
CR, turn:=1,

end while

o -

P,: |l whileTruedo
NC,: walit(turn=1);
CR;: turn:=0;

end while

.
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(temporal logic)




CTL(Computation Tree Logic) (1)
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Sor S1r Sy -
EQg:g
Ag:d
Xf:f (next)
Ff.f (Future).
Gf:.f (Globally).

RO R f (Until).
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CTL(Computation Tree Logic) (2)

<M, s> FEF f <M, s> E AF f
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CTL(Computation Tree Logic) (3)

S f SS@ T
O O f O O
f f f f

<M, s;> E EG f <M, s> E AG f
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C‘a‘ﬁ(pc:O =CRyAPC, =
737 1 L

AG(pc, =
AG(pc, =

Eg — AF(pc, =
— AF(pc, =

CR))

CRy)) A
CR)))
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EXT = 3aX[f(X') A X > X] X, X

N
E[f,Uf,)]:= Z
Z=1f,v (f AEXZ).
EGf:= Z
Z=fAEXZ

E[true U f], AG f = —EF—f

EF f=
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Z=f,v(f AEX2Z)

» Z,:=false;

» Z,, =L Vv (f,AEXZ).

g Zi1 = 4
Z=fAEXZ

» 7, =true;

» Z,, =TAEXZ.

g Zi1 = 4

(2)
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X; A Xo A Xg A Xy X; D X, D X3 D X,

Reduced Ordered Binary Decision Diagram
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SMV(Symbolic Model Verifier)
http://www-2.cs.cmu.edu/~model check/smv.html
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b, (X< 2)?

<2
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X=M

(1)




(2)

—~I

transition
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time
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m Vv
H
LTS, =(Q, 22U R, —, Q)
= Q
m 2 QccQ

u —>

(I, v)

(1)
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Inv(l)

a, u

(2)

s

velnv() AV e lnv(l’) A (V,V') € u

. B

0,V 0, v)

~
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(3)

fe Act() Af(0)=vA VYOSt <t (') € Inv(l)

L
(1,v) >, f(t)
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LTS,
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® LTS=(Q, 2, =, Q)

® ~
P,.geQ
a € L(q).
I L
P~.4
Q q—>g-Ap
I ~ TS

LTS~

L

LTS

LTS
p—p

CTL
LTS~

P~ graeL(p)

(bisimulation)

f LTS

g e
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Bisimulation Algorithm:
Initially 7:={ [a] |a € AP };
[* AP [al :={aqeQlaelL(q)}*/
whiledR R e 7: O # Rn Pre(R) #Rdo
*Pre(R:={geQ|dpeRg—>p}*/
R, :=Rn Pre(R);
R, :=R-Pre(R);
= m={ R} LRy Ro s
endwhile
Output 7.
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® AP={Il,1,1,151<y<12}.

® =1
Vo=(=0A1<y<12),
vio=(1=1A1<y<12),
Woo=(1=2A1<y<12),
W= (1=3A1<y<12),
Y= (1=0A(0<y< 1vy>12)),
p,=(1=1A0<y< 1vy>12),
wr=(1=2A(0<y<1vy>12),
W =(1=3A(0Ly<1vy>12)
}.
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Voo = Vio Voo  Vooo=(=0A1<y<10) yp=(1=0A10<y<
12) 711 = Vooo Woorr Worr Vior Vars Woor Worr Waor War }-
Vio™ Voo V1o Vie=(=1A0sx<2A1<y<12) yyp=(l=
IAx>2A1<y<12) - 7 = { Yooor Voo Vorr Vaoor Vaow Van
Vaor Va1r Waor Var }-

Voo = Vao: Woo Yoo =(1=2A5<y<12) ypp=(1=2A1<y<
5) - 73 =4 Wooor Woorr Worr Vioor Viow Vi Vaoor Voo Wars Vaos

W }-
Vieo = Voo Vo Vaon=(1=1A0<X<2A3<y<12A3<y-X
<12) v =(=1A0<X<2A1<y<3A1<y—x<3)

74 = Wooor Woorr Worr Vaooor Vaoow Vaow Vi Waoor Waorr Worr Waor War }-
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® U Womo: Voo Wan=(=3A0<X<2A1<y<12A5<y+2x<
14) g =(1=3A0X<2A1<Yy<5A1<y+2X<5) v (I=3n
X>2A1<y<12)) 75 = { Wooor Woorr Worr Wiooor Waoorr Waors

Vi1, Wooor Wao1r W1y Wanor Waorr War ) -
® Vsor ™ Voor: Vs Va0 =(1=3A0<SX<2A1<y<SAl<y+2X

<5) Wau=(1=3AXx>2A1<y<12) . 75 = { Vooor Voors
Wor Viooor Wioow Wior Wit Waoor Woorr Worr Wao1or Waor1r Waorr War )
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(4)

Voo = (| =0 A 1<y < 10)

ooy = (1 =0 A 10 <y < 12)

Yo =(1=0A(0<y<lvy>12)

AB<y+2X< 14)

A\ 4

Yiooo=(=1A0<X<2A3<y<12
A3Ly—x<12)

Yioor=( =1A0<X<2A1<y<3
A1<y—x<3)

YVion= (1 =1AX>2A1<y<12)

p=(1=1A(0<y<lvy>12)

y N

Waoro=(1=3A0<X<2A1<y<5
A1l<y+2x<b)

Yoo = (1 =3AX>2A1<y<12)

ps=(1=3A(0< y<1lvy>12)

A

Voo = (| =2 A5<y < 12)

Vo =(=2A1<y<b)

Yu=(1=2A(0<y<1lvy>12)
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& HyTech(The HYbrid TECHnology Tool )
http://www-cad.eecs.berkeley.edu/~tah/HyTech/
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Bisimulation Algorithm
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P (CLP: Constraint Logic Programming)
CLP = Prolog + Constraint Solver.

B Keyed CLP for HS =Prolog Interpreter

+ Linear Constraint Solver

+ Linear Optimizer

+ Quadratic Optimizer

+ Global Variables

+ efc.

¥
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(1)

I0(X, Y, Time):-
X1=X+D,Y1=Y+D,D>=0,
Y1 =10,

11(0, Y1, Time + D).
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(2)

I0(X, Y, Time):-
X1=X+D,Y1=Y+D,D>=0,
Y1 =10,

12(0, Y1, Time + D).

110X, Y, Time):-
X1=X+D,Y1=Y+D,D>=0,
X1 =2,
12(X1, Y1, Time + D).

12(X, Y, Time):-
X1=X+D,Y1l=Y-2*D,D>=0,
Y1l=5,

13(0, Y1, Time + D).

1I3(X, Y, Time):-
X1=X+D,Y1l=Y-2*D,D>=0,
X1 =2,

I0(X, Y, Time + D).
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(trace)| ?- 10(X, 1, 0).

1-0) CALL : 0(X, 1, 0) ?

1-0) TRY :10(X,1,0):- 5=X+ 6, 8=1+ 6, 6>=0, 8= _10,1(0, 8,0+ 6)
1-0) SUC :10(X,1,0):- 5=X+ 6, 8=1+ 6, 6>=0, 8= _10,11(0, 8,0+ 6)

1-1) CONSTRAINT : 5=X+ 6
1-1)SUC : 5=X+ 6
1-1) CONSTRAINT : 8=1+ 6

1-1)SUC : 8=1+ 6

1-1) CONSTRAINT : _6 >=0

1-1) SUC : 6>=0

1-1) CONSTRAINT : _8 = 10

1-1) SUC : 8= 10

1-1) CALL : 11(0, _8, 0 + _6) ?

1-1) TRY :11(0, 14, 15):- 16=0+ 17, 19= 14+ 17, 17>=0, 16=2,12( 16, 19, 15+ 17)
1-1) SUC :11(0, 14, 15):- 16=0+ 17, 19= 14+ 17, 17>=0, 16=2,12( 16, 19, 15+ 17)
1-2) CONSTRAINT : 16 =0 + 17

1-2) SUC : 16 =0+ 17

1-2) CONSTRAINT : 19 = 14 + 17

1-2) SUC : 19= 14+ 17

1-2) CONSTRAINT : 17 >=0

1-2) SUC : 17 >=0

1-2) CONSTRAINT : _16 = 2

>>LIN(L) : 0 =-2 + 17

1-2) SUC :2=2

1-2) CALL : 12(2, 19, 15+ 17)?




N

& @

CLP

(4)

11X, Y, Time)
X,y

CLP

CLP

X, Y

Time

CLP
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I0(X, Y, T, TT, [A, B]):-
X1=X+D,Y1l=Y+D,D>=0,
Y1=A,
spec(Y1),

11(0, Y1, T+ D, TT, [A, B]).

1I3(X, Y, T, TT, [A, B]):-
6(1:X+D,Y1:Y-2*D,D>:
X1=2,
spec(Y1),

0 2(X1, Y1, T+D,TT,[A, B]).

I0_2(X,Y, T, TT, [A, B]):-
X1=X+D,Y1l=Y+D,D>=0,
Y1=A,
spec(Y1),

11 2(0,Y1, T+D,TT,[A, B]).

I3 2(X, Y, T, T+D,[A, B]):-
6(1:X+D,Y1:Y-2*D,D>:
X1=2,
spec(Y1l).

spec(Y):-1<=Y,Y<=12.
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(4)

| ?-10(X, 1, O, TT, [A, B]).

X =7
TT=19- 36+4* 116
A=10- 36

B=12- 36-2* 116
-2* 116- 36>=-11
2* 116+ 36>=0
-2* 116- 36 >=-7
2* 116+ _36>=-4
-2* 116- _36>=-11
2* 116+ 36>=0
2* 116- 36 >=-7
2* 116+ 36>=-4
O<= 36 <=9

O0<= 116

*k%k yes k%%
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(5)

A, B

v

[ on/off (=

)

| 2- max(TT, 10(X, 1, 0, TT, [A, B])).
TT =33

X =?

A=10

B=5

*k*k yes *k*k
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» Given:

» Find:

CTL
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Robot Arms

Rod1l

-~

Nuclear Reactor
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‘F

"F

AG_ [l =1, > EF | =1,]

1

CLP

CTL
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(4)

EF 10(X1, X2, Temp, TT) :-
D >=0, vr(: Vr),

EF 10 next(X1+ D, X2+ D, Temp+Vr* D, TT + D).

EF_10_next(X1, X2, Temp, TT) :-
LGCL), TT<=L, TM( Temp), T T), X1>=T,
EF_11(X1, X2, Temp, TT).

EF_10_next(X1, X2, Temp, TT) :-
LGCL), TT<=L, TM( Temp), T T), X2>=T,
EF_12(X1, X2, Temp, TT).

EF _11(X1, X2, Temp, TT) :-
D >=0, vl(: V1),

EF 11 next(X1+ D, X2+ D, Temp-V1* D, TT +D).

EF_I11 next(X1, X2, Temp, TT) :-
L(:L), TT <=L,

EF2(X1, X2, Temp).

EF 11 next(X1, X2, Temp, TT) :-
L(:L), TT<=L, Tm(: Temp),
EF _10(0, X2, Temp, TT).

EF _12(X1, X2, Temp, TT) :-
D>=0,v2(: V2),

EF 12 next(X1+ D, X2+ D, Temp-V2* D, TT + D).

EF_12_next(X1, X2, Temp, TT) :-
L(L), TT <=L,
Tm(: Temp),
EF_10(X1, 0, Temp, TT).

EF2(X1, X2, Temp):-
current_state(: [X1, X2, Temp]),
range([T],
(T(: T), current_state(: [X1, X2, Temp]),
EF2_11(X1, X2, Temp, 0)),
[TMin], [TMax]),
T(: T), negate(T, TMin, TMax).

negate(T, infeasible, _):- .

negate(T, _, infeasible):- !.

negate(T, unbounded, unbounded):- !, fail.
negate(T, TMin, unbounded):- !, T < TMin.
negate(T, unbounded, TMax):- !, T > TMax.
negate(T, TMin, TMax):- !, (T > TMax; T < TMin).

go(T, L):-
LGCL), TCT), T>=0,
vr(: 6), v1(: 4), v2(: 3), TM(: 15), Tm(: 3), Temp(: 9),
range ([T],
(TG T), Temp(: Temp), EF_10(T, T, Temp, 0)),
[TMin], [TMax]),
negate(T, TMin, TMax).
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| ?- go(T, 30).
T=7 -_18
0< 18 <=7

| >

L =30 0<T<7




Keyed CLP for HS
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CLP

(Quantifier Elimination, ... )




